Geometry Name:
RAP — Chapter 1

1. Draw an angle with the measure of 83° and clagsify the angle
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2. The vertices of triangle ABC are A(0,-2), B(5,-2), and C(8,2). Use the distance formula to
find the pernimeter of triangle ABC.

1 L e =) b
A= JGo- x4yt Be =\ (8-5)+ (200" Ac= J(s o)+ (2-(D)

= [{5-o5-+(-2-CN* =N+ -:.\}db)"i-(-""j’
Ve e e
= +o" =25

=\ 82
= \, Z2s 5_

S. p(f:ms{rr' 5--}'5-1-\’?5 -‘-lS.‘?‘f

3. M is the midpoint of AB . The coordinates of A are (=2.3) and the coordinates of B are (4,-3).

Find the coordinates of M. PSR z Rt y\
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4. 1f M(Q.2) is the midpoint of AB and the coordinates of A are (3,6), then find the coordinates

of B. X ity i&b_-_ 2 A (13':, )23 8 CM;Y'D
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6. If <1 has a measure of 38°, what is the measure of its complement?
¥13§=90
X= S&

7. Write the inverse of the following statement:

“If you enter the Grand Prize drawing, then you will get rich.”

TL you oo n ob enter tla Grond Prize atrm:-.) ) tlen you wiil net
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8. Write the converse of the following statement:

“If you lower your cholesterol, then you eat Quirky oatmeal.”

I{ you et Gln.-.'.rl'y am‘:»u[‘, tlen you will Lower }(mr cholestere |

9. Write the contrapositive of the following statement:
“If you feed your dog Krazy Kibble, then it will grow three inches.” {;
If Yoy &5 does rot grew 3 i~ches, Chen you Ao nol '&"k '
l(r‘.}y 1€ bkle.
10.Given each conditional, write the desired form:
a) IF3 is a prime number, then it is odd. INVERSE
TE v s not « Prime wenber, than 75 75 ot od L.

b) If two segments are congruent, then they have the same length. CONVERSE
TE twe 523""”{ s hkave .U_ P [,.,,3{_-,1.) than ‘Lhc\/ 4re Cbhdrulnt.

¢) If the weather is cloudy, then it will rain. CONTRAPOSITIVE L,
TE it willnot vein, blun the weatlen s not Cloudy.
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11.Two angles are complementary. The measure of one angle is 15° more than twice the
other. What is the measure of the smaller angle?

A. 35° B. 65° C. 55°
X + 2%/ = GO
3IxtIs= 90

Ix<= 7S

X=ad
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12.The measure of two supplleangentary angles are represented by (3x+15) and (2x-10).
What is the value of x? Y x+15% 2x0 = 150
Sx+S =150 ¥= 55
Sx= 178

13.In the accompanying figure, two lines intersect, m21=2x+18, and m£2=8x-30. Find
the number of degrees in mZ4 . melimlY =180

llewm
mel AX+Is MY =150
Ax+ig = 3X">0 .,, g 3Yyme=IgD
/% = LX-20 6 = 144
Yg=6X
X=g s
14.In the accompanying diagram, A8 and CD intersect at E. If mZAEC =4x—40 and
mZBED = x+50, find the number of degrees in ZAEC. . B
MCAEC =m BED
Ux-4o= X+SO WmlAGL=Y%-%0o E
3X= 90 460)-10 D
o
X =30 80

15.Find the measure of each letter.




Yx-5+ X4 2180 me PO.@= Sx-s"
“x-1=130 346)-5)
I3

16.Points P, Q, and S are collinear. Ux= 184
a. Whatis M&PQR X =44

b. Ifaray QT bisects £RQS, what will be the measure of one of

the resulting angles?
g ang a '5 Sb

17.Points L, M, and N are collinear and M is between L and N. You are given LM =13

and LN = 20. What is a possible value of MN? 5 - -
Lmtmn= LA L o~ ~
13 + A =RO
MAs =TT
18. Ray BD bisects LABC so that m€DBC = (x + 6) and m& ABD = (2x - 12). What is
" AK=1R =Xl A
X—JZ = # 2{1‘"
X=18 Xl
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19.Use the number line. <

G H ! 2 KL MNO
-§=-3=-2~-1 0 1 2 3 4

a. What is KN + IK?
33225

b. What is the coordinate of the midpoint of GO?

T

20.Use inductive reasoning to find the next two terms in the sequence. Describe the
pattern.

a. -4.2.8.14,... g0 A6 b. 9,5 1,-3,... -7, -]
T e, X T
pAdd b -4-9-4 5:..\:.{:.-'5&'(:-_5 q
21.Draw and label segment AB with midpoint C.
S { a = .
A C R
Use your drawing from above: IfAC = 8x + 10 and CB = 10x — 6 find the value of x, AC and
AB.
X+ = [0x-¢ A= §(8)¥lD A = 74474
¥lo
= Ax-6 GH =148
jo 24 1
4
Jo=2x

X=g



22.M0O bisects ZLMN, m2LMO = 42 —x and msLMN = 6x +22. Solve for x and find
m<LMN. The diagram is not to scale.

Lf2-x) = bxr2r X=778
mllmN=Gxrt

L(276)122
=(%.5

sY-2w = bx ¥22,
S4Y=8gxtae
6}, - €X

23.Write a proof.

St tmint Rxison Given:
DYETTA 1) Griven
Dmd 5=miH 2) Def T s Prove: Z1= 4
DELRLS borm o1 3) Dl of Linar Peim
Lzect F"E-- - P >

‘-l)m&iimt}also Y) Linear Peir Post
plttm LY =I%0

Smittsts= o §) Sub P

wll
{c) mll=ml G%‘ Sh‘fiféa:;p
7):5! ‘1—'(.2.24-00mplet3 Der =6

e proof;

i

Given; <= <3
Prove: <2 is supplementary to <3

T
Statements Reasons
L. Cl?ﬂ} L. G-n.'vll’.'\
2. wllz=mlD 2. definition of congruent angles
3. <1and <2 are a linear pair 3. DcL Lineer Pu:n
4. mél tm A =lg0 4. Linear Pair Postulate




S.mlBSIm L= g0 5. Substitution
6. <2 is supplementary to <3 6.0ef ofF Supp £2°5.

25.Find the value of the variable. Be sure to show your work.

6}:—10+ GY tio =/go
1. 2.

117'3}5'0
y=e

(3x — 40) {2x - 10)

(6y — 10)° | (6y + 10)°

JY- Y0 =2A%—1O -
¥ ~40= -lo

26.Ray BD bisects 2 ABC so that m£DBC = (5x - 9)° and m& ABD = (2x +27)°. What is
x? (hint: create a picture)

RXx+21= &x—9 A _
27=3x-1 220
GxA
36=DX % -
27.Write a proof: X=l2
Given: BX bisects < ABC, N
prove:<1=<3
5{7&41.-\“ t 12 ceson
PBY bisects LABL D) Goiven ;
YA 2) Def of Misecton /E-VB ¢
3) é; %‘63 3) V;I":-'&q.l Lt‘b sve =

l{) LI=LCD "f) Tra»sr.{'.-‘-"- PP




@ Using Algebra Find the value of the variable. Then use

substitution to find mZABC. LD 5{‘1‘).};3 =43}
54. 55. A 7 {5 28)°
£ ‘“_-\tﬁﬁ 19F C R g
A BA D E a\
8n° b
(9n - 5)° l?'- 8 2
PR Gx ¥l +x=180 gpn ] P
TXHIG =180 28=1p
n=>5 Ty = 1G] P =Y
M lARC= Bn
= Yo Y= a3
28.Find a counterexample for the following statement? "All even numbers are multiples
of 4."
@)
- =15
1 "
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29. Scott has decided to add push-ups to his daily exercise _

routines. He has created a chart that shows how many push-
ups he has done in a day. 7
a. How many push-ups will he have on day 67 1 [
1S s L
1 S R S E
b. Make a conjecture about how many push-ups he has at : : :
any given day.
1 2z 3 & §
30. Find x
% ! KR, S 44xtbt [0x+12X%-1L=15D
w Z musb=4x+ 6,
8\L"5 \, m.7=10x Sl ~b =130
U v w = 2
me8 = 12x - 12 L)y = [8b
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Example: Write a two-column proof. C

Given: « ABC and .CBD are complementary. A
form a right angle. D
n ¢ BB
Prove: « ABC= .DBE -
S‘&h‘L"BM ur+ a-'cl- Sah B E
II)LA &1\' L C&D aYe c-qu ’L) G'l-'u!-ﬂ r
TR BE frm REL "])éﬁlf:‘-? T) DeF 2 L5
¢ .. DRE
3) pblimea = 90 2) Def comp &3
l.
YLenE =87 3)DeF ©F
“l) wi2imld =50° . (-D }a\hsdn- Add PorT
S) \mcll'*d=hfﬂ-rk 3 s) 5&.‘0 Pfor'l
6) mél=m (A 0 A
Complete each proof. ’-’-) SubE- prop E
. 8 1Giwuredu: 34.; 1 5
an are
:omplerf\entary. B 3 &
Prove: 2= .3 D
Proof:
Statements Reasons
a. 1, <1 and .3 are complementary a. (ive
b. éA e s RE L b. Definition of 1
c. mz AB‘C;z\gQ c. Def. of right angle
d. mz ABC=msl + ms2 d. ﬂg;lc Add f#bt
e. 90 =msl+me2 e. Subsftitution
f. <1and .2 are compliments m ‘
g. 2 E 23 g. = CFMPlfmth_ -t',,,ggfsm




L Cornplefz the fo”o‘wing P of

Given: bisects bigects L ADL b ;'._"
Prove: 2= .3 : -
.'_!l'l
Proof: Sbutzainta Reasan

D B0 Bisects LAOC D) Given

a) LT

DA TA

u) LLETLY

Given: <B 1s a right angle,
<C is aright angle,

23 Dt aL Rseckn
D) Verkie | L5 =

q) Subpkibuton PP
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<= <4
= = 1 y
Prove: <2= <3 5 ]
Sé&hns»{“ l’lu»n B C
DB s REL )C-ien
Le i red.
Lized D) pek= s
) mel=miH e
[ ¢
3) o 15 60 '5) Def o
wmic =90

YY) mlltmedsm D
meytmei=mLC

Sheltmir=42
w (S tm =90

L) & tml 22 mld pmdH
7) mi2=mid

) LA =L

5) Sub Pop.

C.) Sub PH’F-
7) Subte prop
3) DeF = l's




